Dawson College: Calculus II: 201-NYB-0505 - . April 29,2011

Test 3 (A)
Question 1. (5 marks ). Evaluate the following improper integral.

/1 (1—x)e™™

Question 2. (4 marks) Sketch the region enclosed by the following curves. Write an expression
that gives the area of this region (you do not need to evaluate).

y=x2~4x+3, y=—x*+2x+3, x=v1, and x=4
Quéstion 3. (5 marks) Find the arc length of the graph of
y=v1-—2x%

on the interval 0 < x

N['—‘

Question 4. (8 marks). Set up an integral that glves the volume of the solid obtained by rotatmg
the region bound by e

y=v% y=1, x=4
about the line x = 5 by

(a) Sketching a diagram and usmg the disk/washer method.
(b) Sketching a diagram and using the cylindrical shells method.

- Question 5. (4 marks) Determine whether the following sequence convergcs or dlverges If it
converges, find the limit.

arctan(3n)
n?+3

Question 6. (10 marks) Determine if each series converges or diverges. If it converges ﬁnd the
sum.

n =

= 43
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n
n=2 8

2
~(b) ’glm (Hint: Factor the denominator)

Question 7. (12 marks) Determine if each series converges or diverges.

()Z Slnn

n=2

)

n=2

(C)i >

n=1 6" —35

Bonus. (3 marks) Write an integral expressing the area of the shaded region below.

nin n2




1

-

1

(1

1



9\ [ NTEYL C@Oﬁ !

R e A
dn*-lbx =0 CX”%)CX*D;O
o (x-3)=°
' 9<=O)/7<=3

¢




da\* _  «
(£> T
| (—X
.
| N . (
d 5 K = (=% Fx _
| dx (- X | —&
| 7 | ‘/Z/L————C‘X.:: CL(‘V¢5,’V\7< '/7'
2 | ,, = : .
s T e v
6 : |
= occsm s - aresm O
= T O






ACX) = D e I~

P 5- X

-\
h= Q-

==\

.~ dx
V:j‘-’élry (5")0(’% ’



§> '/77: f. G\{Q'&MK(%AB éT(-/Z F()ﬂ- ML»"L -

o cton (%r\B A L

So-m. & occtnien)
_Z(n”+5>

STED R



c (YT e 2 (D) 2
- Zj ’};(/’%‘Yd -5 (:TD;WQQ
= A L . 1.5 1 oo\
EREE
Amid o~ “l.
25260 23
RGO R-C)

I
My
ot |\
T~
of | W
-

|
fw
N
2
V] x
W

%
)~
w 0

.

T
= s .3 :3.3 -3:4
T3 v f F



Sirs & ’
P CE ﬁagﬂ{ SERLED ConN VIR LE

iLx,ilﬁ =y 58
e é@: 25
S I
TR
= 1
LE0
oD

PO ‘
A ~ //A_‘___ + &
oD A
2 = Alza*D ¥ R (20
! \ 7 ‘ |
n=
-
72 2k K=
\\(\a,,l?""




e (D (B ) )
*---*(ﬁ ] l:\,%SJr(z%S"#BJ’(Z%( " Z

\

S— —
- ———

o’Zn"r‘
o B e
)

ANEL SN
- | THe Serled  (Comvokbeh A~
5 =

A1

Ne



-ﬂ?:’»o) 'Y\“' ﬁ,___,/(/

@A D.@Dﬁis\(\/\

Oon VERAES — THE™ =
WQNLSN\‘ ST,

%7’
) o |
—" | A .
Mo, \?"’“ n3— | ~ L\W ﬁa =
e~ =

| SO n's_,(

[ a—

Y3

. (

3~ Ve » —
n

’, QUISLE z-—-—':;: C,csv\)\/@(LC({S C?.géazle/ﬁ , = 3/2,2

2,_,__—-/- cm‘/,,f(&ccd& %7/ LI T W?NLSE"‘ 7551’
,\%_.

Zoemtn 0 B ES -



=‘_,_(__/ el ol KZ2Z
h) KN .@'(x} — ‘
N )y s e SnNCE e B >K
— | )
THAT L ¢
we rbh/g Xz (V\h(;b % o (D
z) -
,X_»oc ’)(M(x) |
o \ doe L) u= A(«Cﬁ = 2l X
PR o= 2.1 dx
X
dx = ﬁ du.
= L % _du z
vy ?((L
'
TV Lin] () +C
Z.
= d \ | ‘ dx
x =\~ -
5 % In (*) 4-.—5@“* . ?(’r\()cb)
e
= e 2 [h\(\mﬂb
L=
- L it - (il =
cQ

Nza, .

Z /\‘ 'D(\/L?(cheﬁ %y
V\\“(’}{L) |

WRGEAE TedT .



AV e Gn
NEP 2
- G" Y /
AT g i}
| o
o e
LT =
: S
- SiIN(CE 2 . = |
| < b'\ = Zﬁ(”">’\—\
hey © -G

(Gemeareic, 0= L)
=2

| -t &S
z. o B L

h> é’\—s

Con VELG e

CorPrESon  TEST™




